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Level D

Consolidation

The following questions (pages 1 - 8
y topic from Level D
ss stated)

cover ever,
(No calculator unle

1. Write the following in words i
: 98026.
a 23090 b 60280 c 9003 d v

2. Write the following in figures =

o forty two thousand and eighteen cighty nine thousand fhree hundred.

b

3. Putinorder, smallest first i~

20105, 19000, 20009, 19780, 21000, 19099.

4. What does the 6 in the number. 86095 represent ?

5. a Whatis the number that is 500 up from 197000 ?
b What number is 100 down from 72000 ?

6.  Find the missing values -

3407 endSe?
1 20 50 10

7. White the number 6 + = + —— os a decimal.
10 100

8. Change the following todecimals = a 17% b 68% ¢ 9%

9.  Copy this table and complete it :-

10. a I bought ashirt for £7:99 and a tie for £6:49.
How much change did I receive from £20 ?

b What notes and coins might I receive in my change ?

11. Find (mentally) the following -

a 73+27 b 85-23 c  47+57 d 72-58
e 240+320 f 590 - 420 g 99+85 h 510 - 370.
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12. Copy the following and find :-

9 f:g b 56:81 c 8000 d 9-263.
-12.93 ~169

13. Find (mentally) the following :-
13
a x7 b 96+4 c 320+:8 d 230x4. @

14. Find (mentally) the following :-

a 23x10 b 100 x 340 ¢ 102 x100 d 10x631

e 252+10 f 100x063 g 650+ 100 h 12 x100.
15. Copy the following and find :-

a 413 b 17-26 c 1827+7 d 108+9.

x5 x8

16. Round to the nearest 10:-

a 72 b 396 ¢ 4125 d 1826,
17. Round fo the nearest 100 -

a 349 b 2551 ¢ 15879 d 6984

18. Do the following, without a calculator -
1 1
8 ~of 35 b L of 240 o Lofasoo  d = of 2300.
8 7 10

19, Do the following without a calculator =
7 of3000 d % of 105.

L b 2 of120 ¢
4 ! 10
2
20. Remember - 20% means ?.%. Find the following

60% of 2000 d 90% of 300.

a 20% of 6000 b 30% of 400 c
each of the following patterns i~

21. Write down the next three terms in

a 2,468, .. b 13,15,17,19,.. ¢ 3,6,9.12, ... d 160,80, 40,20, .

e 1,248, .. £ 3,7,1,15,.. 9 9,15,21,27, .. h 100,93,86,79, -
22. Canyou see the pattern here ?

1127375, 8137217 34,5

Find the next four ferms.
23. If you know the length of the side of a square,

describe "in words" what you do fo calculate its perimeter.

length = ?
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